S Series

Movable Clamping Attachment

Art.nr 803194




Page 2

Movable Clamping Attachment

==

>
———
—

.===T_-_-=.-:q‘“

‘-d

)

=

Vikt/ Weight: 11,4kg

POS.

3

PART NO

BESKRIVNING

DESCRIPTION

800765

OVERBYGEL

UPPER CLAMP

803162

MONTERINGSPLATTA

MOUNTING PLATE

800981

UNDERBYGEL

LOWER CLAMP.

800982

FRIKTIONSLIST SATS

FRICTION PLASTIC

803163

LASBLECK

LOCKPLATE

803138

GUMMIPUCK @40 S SERIEN

RUBBER PUCK

211902

BRICKA 36x21x3 FZB

WASHER

211861

MUTTER LOC-K 20 FZB

LOCKING NUT M20

211836

MUTTER M20

NUT M20

o|©| D[]0~ |W[Nf—

NIN[N[A NN —=[—=[—|—

211177

SKRUV M20x110 FZB

SCREW M20x110

ExTe Fabriks AB, SE-820 41 Farila Sweden. Tel: +46 (0)651

Exle

Securing cargo. We invented the concept.

175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

803194 2016-02-12




